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QUESTION 1

When integrating NetBackup with HiCommand Protection Manager (HPtM), which two options must you specify on the
backup Linkage tab? (Choose two.) 

A. the backup product name 

B. the number of backup policies in use 

C. the backup version and backup vendor 

D. the number of days to restore the backup catalog 

Correct Answer: AD 

 

QUESTION 2

A customer creates a database once per day. This database is copied to another storage unit using TrueCopy. When
the database is 3 months old it is migrated to external storage using Volume Migrator during a short window. Which two
are relevant? (Choose two.) 

A. TrueCopy must not be active on the LUN. 

B. The database should be in Read Only mode. 

C. A ShadowImage copy of the database is migrated. 

D. The external LUN must be on the same type of RAID. 

Correct Answer: AB 

 

QUESTION 3

A customer has a server cluster, what are two features of a quorum disk? (Choose two.) 

A. It must reside on a RAID disk. 

B. It must be accessible by all nodes. 

C. It contains the status of all nodes in a cluster. 

D. A copy must always be available to all nodes. 

Correct Answer: BC 

 

QUESTION 4

A customer has purchased an Hitachi Storage Cluster (HSC) for Microsoft Environments. Which component is
included? 
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A. VBS scripts 

B. Microsoft Cluster 

C. Hitachi VSS Agent 

D. Hitachi client for Microsoft Exchange 

Correct Answer: A 

 

QUESTION 5

What are three key points the customer must respect when establishing a Three Data Center (3DC) Business Continuity
Solution with Universal Storage Platform (USP) systems? (Choose three.) 

A. The customer must have the three USPs connected to separate hosts. 

B. The customer must define Journal Groups in terms of performance and size. 

C. The customer must decide which Consistency Groups to set up including their size. 

D. The customer must upgrade shared memory on the USPs to support Journal Groups 

E. The customer must quantify the write I/O workload to be replicated by the primary USP. 

Correct Answer: BCE 
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